

حل تمرين رياضي مهندسي:
(1) جواب سوالات بخش اعداد مختلط

الف) $Z_1 \overline{Z_2}$
 $Z_1 = 2i$

$Z_2 = 1 - i$

$Z_3 = 3 - 2i$

ب) $\frac{\overline{Z_1 Z_2}}{Z_3} = \frac{2i \times (-2i)}{3 - 2i} = \frac{4}{3 - 2i} \times \frac{3 + 2i}{3 + 2i} = \frac{12 + 8i}{13} = \frac{12}{13} + \frac{8}{13}i$

$\frac{Z_1 + Z_3}{Z_2}$

ج)

(2)

ب) $1 + \sqrt{3}i = Z$

$Z = re^{i\theta} = r(\cos \theta + i \sin \theta)$

$r = \sqrt{x^2 + y^2} = \sqrt{3 + 1} = 2$

$\theta = \tan^{-1}\left(\frac{y}{x}\right) = \tan^{-1}(\sqrt{3}) \Rightarrow \theta = \frac{\pi}{3}$

$\Rightarrow Z = 2\left(\cos \frac{\pi}{3} + i \sin \frac{\pi}{3}\right)$

(3)

ب) $Z_1 \overline{Z_2} = 2e^{i\pi} \times \sqrt{2}e^{-i\frac{\pi}{3}}$

$Z = re^{i\theta} \Rightarrow \overline{z} = re^{-i\theta}$

$\Rightarrow Z_1 \cdot \overline{Z_2} = 2\sqrt{2}e^{i\frac{2\pi}{3}}$

(4)

$(\cos \theta + i \sin \theta)^n = (\cos n\theta + i \sin n\theta)$

$\forall n = 3 \rightarrow (\cos \theta + i \sin \theta)^3 = (\cos 3\theta + i \sin 3\theta)$

$\cos^3 \theta + 3 \cos^2 \theta \sin \theta + 3i^2 \sin^2 \theta \cos \theta + i^3 \sin^3 \theta = \cos 3\theta + i \sin 3\theta$

$\cos^3 \theta + 3 \cos^2 \theta \sin \theta - 3 \sin^2 \theta \cos \theta - i \sin^3 \theta = \cos 3\theta + i \sin 3\theta$

$\cos^3 \theta - 3 \sin^2 \theta \cos \theta = \cos 3\theta, \quad 3 \cos^2 \theta \sin \theta - \sin^3 \theta = \sin 3\theta$

$\rightarrow \cos^3 \theta - 3(1 - \cos^2 \theta) \cos \theta = \cos 3\theta$

$\cos 3\theta = \cos^3 \theta - 3 \cos \theta + 3 \cos^3 \theta$

$\Rightarrow \cos 3\theta = 4 \cos^3 \theta - 3 \cos \theta$

$3(1 - \sin^2 \theta) \sin \theta - \sin^3 \theta = \sin 3\theta$

$\sin 3\theta = 3 \sin \theta - 4 \sin^3 \theta$

(5)

الف) $\operatorname{Re}(iz) = -\operatorname{Im}(z)$

$$\rightarrow i(x+iy) = ix - y$$

ب) $\operatorname{Re}(z) = \operatorname{Im}(iz) \rightarrow \operatorname{Im}(iz) = i(x+iy) = xi - y$

ج)

$$\overline{iz} = -i\bar{z}$$

$$\overline{i(x+iy)} = -i \times (x - iy)$$

$$\overline{Z_1 Z_2} = \overline{Z_1} \overline{Z_2}$$

د)

$$\overline{\overline{Z} + 3i} = Z - 3i$$

$$\overline{(x+iy) + 3i} = Z - 3i \rightarrow \overline{x - iy + 3i} = Z - 3i$$

$$\rightarrow \overline{x + i(-y+3)} = Z - 3i \rightarrow \overline{x - i(-y+3)} = Z - 3i$$

$$\rightarrow \overline{x + iy - 3i} = Z - 3i$$

(6)

الف)

$$\operatorname{Re}(\overline{Z} - i) = 2$$

$$\operatorname{Re}(x - iy - i) = 2 \rightarrow \operatorname{Re}(x + i(-y - 1)) = 2$$

$$\left\{ \begin{array}{l} x: 2 \\ y \in \mathbb{R} \end{array} \right. \quad \left| (x, y) \mid x: 2, y \in \mathbb{R} \right|$$

$$|Z - i| = |Z + i| \quad \{(x, y) \mid x \in \mathbb{R}, y = 0\}$$

$$|x + iy - i| = |x + iy + i|$$

$$\text{ب) } |x + i(y - 1)| = |x + i(y + 1)|$$

$$\sqrt{x^2 + (y - 1)^2} = \sqrt{x^2 + (y + 1)^2}$$

$$x^2 + (y - 1)^2 = x^2 + (y + 1)^2 \rightarrow y = 0$$

(V)

$$Z_1 Z_2 = 0 \quad \begin{cases} Z_1 = x_1 + iy_1 \\ Z_2 = x_2 + iy_2 \end{cases}$$

$$Z_1 Z_2 = x_1 x_2 - y_1 y_2 + i(x_1 y_2 + y_1 x_2) = 0$$

$$\begin{cases} x_1 x_2 - y_1 y_2 = 0 \\ x_1 y_2 + y_1 x_2 = 0 \end{cases} \quad Z_1 = x_1 + iy_1$$

$$\begin{vmatrix} x_2 & -y_2 \\ y_2 & x_2 \end{vmatrix} = 0 \Rightarrow x_2^2 + y_2^2 = 0 \Rightarrow x_2 = y_2 = 0$$

$$Z = x + iy$$

(^)

$$Z^2 + 4 = 0$$

الف)

$$Z^{1/n} = Z_0$$

$$Z = r(\cos \theta + i \sin \theta)$$

$$Z_0 = \rho(\cos \varphi + i \sin \varphi)$$

$$Z_0^n = Z \rightarrow r(\cos \theta + i \sin \theta) = \rho^n (\cos \varphi + i \sin \varphi)^n = \rho^n (\cos n\varphi + i \sin n\varphi)$$

$$\rightarrow n\varphi = 2k\pi + \theta \rightarrow \varphi = \frac{2k\pi + \theta}{n}$$

$$Z^{1/n} = r^{1/n} \left[\cos\left(\frac{\theta + 2k\pi}{n}\right) + i \sin\left(\frac{\theta + 2k\pi}{n}\right) \right]$$

$$Z^{m/n} = r^{m/n} \left[\cos m\left(\frac{\theta + 2k\pi}{n}\right) + i \sin m\left(\frac{\theta + 2k\pi}{n}\right) \right]$$

$$\Rightarrow Z^2 + 4 = 0 \Rightarrow Z^2 = -4 \Rightarrow Z = (-4)^{1/2}$$

$$\Rightarrow Z = r[\cos\theta + i\sin\theta] = -4 \Rightarrow \begin{cases} r\cos\theta = -4 \\ r\sin\theta = 0 \end{cases} \quad \begin{cases} r=0 & \sin\theta = 0 \\ r \neq 0 & \theta = k\pi \end{cases}$$

$$\Rightarrow r = 4, \theta = \pi$$

$$Z^{1/n} = (-4)^{1/2} = (4)^{1/2} \left[\cos\left(\frac{\pi + 2k\pi}{2}\right) + i \sin\left(\frac{\pi + 2k\pi}{2}\right) \right]$$

$$\forall k = 0 \rightarrow Z_1 = 2[i] \rightarrow Z_1 = 2i$$

$$\forall k = 1 \rightarrow Z_2 = -2i$$

ب)

$$Z^4 - 2Z^2 + 4 = 0$$

$$Z^2 = t \rightarrow t^2 - 2t + 4 = 0$$

$$t_1, t_2 = \frac{2 \pm \sqrt{-12}}{2} = \frac{2 \pm 2i\sqrt{3}}{2} = \begin{cases} 1 + i\sqrt{3} = t_1 \\ 1 - i\sqrt{3} = t_2 \end{cases}$$

$$Z_1^2 = t_1 \Rightarrow (1 + \sqrt{3}i) = Z^2 \rightarrow Z = (1 + \sqrt{3}i)^{1/2}$$

$$\begin{aligned}
Z^2 + \bar{Z}^2 = 2 &\rightarrow (x+iy)^2 + (x-iy)^2 = 2 \\
x^2 + 2ixy - y^2 + x^2 - 2ixy - y^2 &= 2 \\
x^2 - y^2 &= 1
\end{aligned}$$

(10)

$$(1+Z)^n = 1 + \frac{n}{1!}Z + \frac{n(n-1)}{2!}Z^2 + \dots + \frac{n(n-1)(n-2)\dots(n-k+1)}{K!}Z^K + \dots$$

$$\forall n = 1 \rightarrow (1+Z)^1 = 1+Z$$

$$\forall n = p \rightarrow (1+Z)^p = 1 + \frac{P}{1!}Z + \frac{P(P-1)}{2!}Z^2 + \dots + \frac{P(P-1)(P-2)\dots(P-K+1)}{K!}Z^K + \dots$$

حکم :

$$\begin{aligned}
\forall n = p+1 &\rightarrow (1+Z)^{p+1} = 1 + \frac{(P+1)}{1!}Z + \frac{(P+1)(P)}{2!}Z^2 + \dots + \\
&+ \frac{(P+1)(P)(P-1)\dots(P-K+2)}{K!}Z^K + \dots
\end{aligned}$$

$$(1+Z)^{p+1} = (1+Z)^p (1+Z) = \left[1 + \frac{P}{1!}Z + \frac{P(P-1)}{2!}Z^2 + \dots + \frac{P(P-1)(P-2)\dots(P-K+1)}{K!}Z^K \right] (1+Z)$$

$$\begin{aligned}
&\left[1 + \frac{P}{1!}Z + \frac{P(P-1)}{2!}Z^2 + \dots + \frac{P(P-1)(P-2)\dots(P-K+1)}{K!}Z^K + \dots \right] + \left[Z + \frac{P}{1!}Z^2 + \right. \\
&\left. \frac{P(P-1)}{2!}Z^3 + \dots + \frac{P(P-1)(P-2)(P-K+1)}{K!}Z^{K+1} \right]
\end{aligned}$$

$$1 + Z\left(1 + \frac{P}{1!}\right) + Z^2\left(\frac{P(P-1)}{2!} + \frac{P}{1!}\right) + \dots]$$

$$\frac{P^2 - P + 2P}{2!} = \frac{P^2 + P}{2!} = \frac{P(P+1)}{2!}$$

(11)

$$|(2\bar{Z} + 5)(\sqrt{2} - i)| = \sqrt{3}|2Z + 5|$$

$$\left| \begin{matrix} 2\bar{Z} + 5 \\ \sqrt{2} - i \end{matrix} \right| = \sqrt{3} \left| \begin{matrix} 2Z + 5 \end{matrix} \right|$$

$$|Z_1 Z_2| = |Z_1| |Z_2| \rightarrow 2\bar{Z} + 5 = 2(x-iy) + 5 = 2x + 5 - 2ixy$$

$$|Z_1| = \sqrt{(2x+5)^2 + 4y^2}$$

$$|Z_2| = \sqrt{2+1} = \sqrt{3}$$

$$|Z_1 Z_2| = \sqrt{3} \times \sqrt{(2x+5)^2 + 4y^2}$$

$$\sqrt{3}|2Z + 5|$$

$$|2Z + 5| = |2(x+iy) + 5| = \sqrt{(2x+5)^2 + y^2}$$

(12)

$$Z = \frac{i}{-2-2i} \times \frac{-2+2i}{-2+2i} = \frac{-2i-2}{8} = \frac{-1}{4} - \frac{1}{4}i$$

الف)

$$\theta = \tan^{-1}\left(\frac{y}{x}\right) = \tan^{-1}\left(\frac{-1/4}{1/4}\right) \rightarrow \theta = \frac{3\pi}{4}$$

$$\arg = 2k\pi + \frac{3\pi}{4}$$

ب)

$$\frac{-2}{1+\sqrt{3}i} \times \frac{1-\sqrt{3}i}{1-\sqrt{3}i} = \frac{-2+2\sqrt{3}i}{4} = \frac{-1}{2} + \frac{\sqrt{3}}{2}i$$

$$\theta = \tan^{-1}\left(\frac{\sqrt{3}/2}{-1/2}\right) \Rightarrow \theta = \frac{2\pi}{3}$$

$$\rightarrow \arg(Z) = \theta + 2K\pi = \frac{2\pi}{3} + 2K\pi$$